‘ XYZ-axis Linear Ball Guide (SS) Stage [ 125~[180: BSS76/BSB76 Series

BSS76-60A

o1 SURUGA BT
(%) The center hole tolerance HA for BSB. DATA
COMMUNITY SEIKI'
BSS76-25A/BSB76-25A I BSS76-40A/BSB76-40A
40
25 1616,
UL 13
BSB76-60A 1 7] I
' aHT 3 0P 5
¢3H730P | = \l S
- . = 40P =
(EVKIA 33 = NT ki, <L s i B =i
Sl ‘g‘vgm 555§ Gam
T uy 21
| 4 1 g2 =
13z] T
4-2.5THRU4.20 BORE 5565 | 40 | |12 =115 41 1] 32 |
{For M2 bolt holes) 4-3.5I'HHI.IFEG'BURE /
0t holes|
BSS76-50A I BSS76-60A/BSB76-60A
60
AP .
13 @4HT 3 0P ]
4-M3 4 DP i
-4 4 DP =
e =
v g FHS o
i e i | | & b
=3 - Al
Sk B et ey
o er ] o=
40 = 50
w5465 | 50 | [11.3 i, 540 4-3.5THRUGC'BOR |$5iﬁ§ 60 ik 4 4-4.5THRUBEC BORE
{For M3 bolt holes) {For M4 bolt hotes)
BSS76-70A I BSS76-80A/BSB76-80A
80
70 70
€0 Clamp
0 4 | 185
H4AHT 3 0P a0 = \
smzar, || |22 — g\
4-M4 4 DP i w L = \
‘ & 12-M4 6 DP H| \
L O
ol of o 7 EREENe 2 !
T e Mg Ei D
ey " 5 gt + b |
5 2,_ mc'
boecw— = R =] e T LT L1
Es:" ql =0l —— = | =1 E]:I-l:— ¥ Ei_:uuo b ﬁ
96:+12.5 70 113 . T .
@5 |70 |13 e Qd 70 || garigs it STHALASEBORE
o £125 | (For M4 bolt holes)
M Configuration
Model BSS (BS8) 76- | 254 [ 25C [ 25CU | ewmes [ 404 [ 40C [ 40CU | reomee [ 504 [ 50C [ 50CU | reowee [ 60A [ 60C [ 60CU | s [ 704 70C ] 70CU | v | 80A [ 80C | 80CU | oo
z B85S (B58) 36- [ 254 | 25C | 25Cu | ©P2057 | 404 [ 40C | 4ocu | ©P2T | s0A | 50¢ | socu [ ©F2T | goa | soC | socu | ©P2ST [ 7oA | 70c | 7ocy | ©P2087 | soA | soc | eocy | @RI
xY BSS (BSB} 16- [26A| 25 | OMM~[40a| 40 [CPN~]s0m|  s0C | CRW~eon|  60c | GPME~[70A| 7oc | CMMMi~|BOA|  8OC | GPREI~

#R {opposite-hand) means configuration for X or ¥ or Z-axis of R, 3BSB is only for 25 - 40 - 60 - 80.

B Model

Option code

BSS76-[]

Stage table size

5% 25x25mm
0% | 40=40mm
50 50x50mm
B0 G0x60mm
7 T0x70mm
Bk #0=80mm

#:BSB Is only for .

BSB76-[ |

* Mo

CR

ﬂ Grease specification

1 i
i e e T
environment VACCUUM
2 . orease FOMELIN
o —m @) A color of the parts may be silver dug to the option modal. AFF
[ 5 ] Bark J L
H Eceding position B 0perating position B Feeding type
Cantar it |ooks down | Sida looks up Standard | Opposite attached micrometer Standard Fosdnpscrew | Faeding scrow
rizorielsr Kk} o]
(P=0.5mm} | (P=03mm| (P=0.5mn}
o ng
I fwilableorly | Awilable anly
Izl ooy {]25~T0 i)
(= | il B5B Mo RSB
Code 4 C [T Blank | A Blank 1 "

- Trawl o Travﬁluﬁﬂfu;aw M;‘aﬂ;m i ,rhf Vetcaity Vol A P
odel dearee |Load capacity n . < Cm i
o) Sraghi=s | Piting | Yewny | Pitch | Yaw | Roll | Pitch | Yaw | Roll 0 e
25 % | +3.2 | 10kgI[38N) | 3um | 30" | 25" | 2.0 | 2.0 | 3.5 | 410 ]3.30 | 4.90 | B0um | 25um | 0.37 | doiM2 —4
BSS76- |40F 50 | 5.0 | 5.0 |0.98 | 0.91 | 1.05 0.78 =
T . Tom 60 | 6060038037039 oo | . [10 A=
BSB76- [60% |~ | 5.0kgt [49N) | * 558 | o5+ | 15" (00 [ 0.0 [ 9.0 [021 021 02r] " LU T
(only for )| 7g ail 12.9 [ 12,9 [ 12.9 | 0.14 | 0.13 | 016 200 40f M4 — 6
80 % | =125 3_Lm 17.7 | 147 | 17.7 [ 0.0 | 010 | 0,10 ‘|1Elgn1 45um 3.00

abejs Jeaul| [enuep

I

XYz

Goniometer

5
g

|

Linear
Ball

Roller

Dovetail

[125

Q
o
&

40

(=]



